T ||'LU/‘|°|"' GR8 FRAME COMPONENTS
Unverarour | Modular Tooling System Joints
Joints

GR8HD4530V Joint 45-30

)
'_
=
|
=
@)
a
=
O
)
w
=
<<
o
L
-]
oc
(U]

42

70

245

o Te)
> N
[e)]
o [sp]
2 [ — AW,
Tightening torque Screw I —
GR8HD4530V 25Nm M8x25 an) N_ =
Material: Aluminium 34,5 230
Weight: 0,5 kg 70 55
Max static load: 290 Nm
N (S
\y Q)
w0
o
=) (N
\y Q)

56

Subjectto change 27



.11 ]

“'LU/" GR8 FRAME COMPONENTS
Unverarour | Modular Tooling System Joints

GR8HD4545V Joint 45-45

&) &
Ne—
[{e]
[Te)
() ()
2 V%
52,5
345
V/_ P P
8 2
o T
Tightening torque Screw ™~
GR8HD4545V 25Nm M8x25
Material: Aluminium @ @ \ﬁ
Weight: ‘ 0,54 kg 35 @45
Max static load: 480 Nm - 70 - 70
0
N
w
Y ()
'\_)/ QJ
56

28  Subject to change



GR8 FRAME COMPONENTS
Modular Tooling System Joints

==

UNIVER GROUP

GR8HD7045 Joint 70-45

O 9
(M) ()
& &
) Z
8
) q
(A () %)
Y Z =
=
B 2
82,5 &
| 3
100
7 @70 o
/ =
<
oc
L
&
Tightening torque Screw (U]
GR8HD7045 25Nm M8x25
Material: Aluminium ]
Weight: 1,05 kg = B d 3
Max static load: 480 Nm
[s0]
2 (O TN/
65 @45
100 70
2
=\ A
&i{ N\

Subject to change 29



u "U(_/‘" GR8 FRAME COMPONENTS
Unverarour | Modular Tooling System Joints

GR8HD7070 Joint 70-70

m m
N\ N\
N |
3
1\
wONW 7 AY
U (N
75
a70
Tightening torque Screw
GR8HD7070 25 Nm M8x25
Material: Aluminium B ﬁ
. @« I
Weight: 12kg € N
Max static load: 800 Nm - U TN D
1 1
50 @70
100 100
ﬂi# (S
QJ QJ
2
ﬂ? A
Q) \:J
84

30  Subject to change



